11+ Specimen Paper Mark Scheme

Answers Notes Answers Notes

1 27400 1 (cao) 15 (i) 13.8 1 (cao)
169 1 (cao) (ii) 1 7.5 1 (cao)
7 1 (cao) 16 (i) 3300 (15x11x20) | 2 (award 1if see 220, 300 or 165)
5 1 (cao) (i) 1130 2 (award 1 if see ‘122") ]
64 1 (cao) [ 6
4/5 1 (cao) 17 (i) ?3 (or 29) mistake |1 (cao)

in question

17 1 (cao) (i) 127 1 (cao)
1634 1 (cao) (iii) 25 1 (cao)

2 0.002222222 1 (0.00222 digits at least) (iv) 21 1 (cao)

3 £4.07 2 (award 1 for £15.93) m (v) 121 0r28 1 (cao)

4 (vi) 28 1 (cao) ]
najuvo 2 (award 1 if any two i) |25 or 27 1 (cao) /
AISOTOI1V complete words correct 18 2 1 (cao)

or one letter wrong 19 a=7 2 (award 1 if two of
TIIATE throughout) b =11 a,b,c correct or
c =13 if 143 seen)

5 168 2 (award 1 if see 42 or 20 (i) 12357 1 (cao)

3/10 or 7/10) IEn (i) | 23334.3 1 (cao) [5]

6 (i) 54 1 (cao) 21 (a) 36 1 (cao)

(ii) | -6 1 (cao) (b) 176 1 (cao)
(i) 1 18 1 (cao) (c) 7 1 (cao) ’T

7 223 (allow 3hrs 43) 2 (award 1 for last 2 digits 23) | 5 22 LCM (2, 7, 8, 11) 1 (good attempt at LCM) _

8 (i) 1/3 1 (cao) 616 (7 x8x11) 1 (award 0 for 1232) ’T
(ii) |5 1 (cao)

(i) | 11/16 1 (accept %orsé )
9 (i) 13/20 1 (cao)
(ii) 1 23 2 (award 1 if see ‘161’)
10 Billy ; Adam 1 (cao in that order) |T
11 (i) 360 @ox1s) 2 (award 1 if see ‘18’
(i) | 448 (468 -20) 2 (award 1 if see ‘468’)
12 400 (s02-30x70) 2 (award 1 if see 2100’
or 2500) [6]
13 62 1 (cao)
14 | (a) a = 20° 2 (award 1 if see
18 & 143 on diagram,
or 71 in bottom left)
(b) obtuse 1 (cao) IT

Total: 60 marks
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